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log () LABJNDuUS triangle lightnesst*
t* h=Yw - nc=100,

t*LAgINDus =IN(A 17 +A2Y)(A2rAon) - (Yad/100<Y<=Y,o)
L ABINDUS =IN(A 1+ A2X)/(AgAon)  (X=YTYy)
1 (3,6)=146 1 ,(18)=332,*y (90)=517

log[t*/t* ,]=0, m,=0,33 1
y 2
L* =49, t* =332 <
~ 1
. actfootndy cuco
18 e U s PV i i
t3,67116,11 t4,=3: Z22 =18 : ?gr?g"ga"m

LABJINDu5
tristimulus value difference
Yoe=Yw - nc=100,
t*LaBaNDus =IN(A1n+A2nY)(A2rA0n)  (Ynd/100<Y<=Y,0)
tLaBanDus=IN(A1ntA2 ) (A2Aon)  (X=YTYY)
dY=Agn(A1ntA2nY)=Aon(A1ntAzX)  X=Y1Yy
Aon,pes=1,5, Ao a=1,0, see CIE 230:2019 -
.
1,=332 d¥,=0,18 dY/1,=0 4101 J&
log(dY)=0,18 m,=",85 % 2
dYeo=0,80, Ah=2,5, A ¢8,1044) ¢=1,00+ = = = =
dYygu,1€, A,=0,0 F, A, =0,0058 «;:\g)ﬁllgauon
dY; 6=0,05 Y,=18, dY=0,18 9
=
xN=0,2  xw=5

log AY/Y) LABJINDUS
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100
L ABINDUs =IN(A 17 +A2NY)(A2rAon)  (Yad/100<Y<=Yoo)
1 AgaNDus =IN(A 10t A2X)(A2iAon) - (X=YTY)
AY/Y=Agn(A 1+ Ag)Y=Aon(ArntAgX)Y
(dY/Y}=0,0029, Ay=1,5, Ay =0,1044, ¢=1,00
(dY/Y)g=0,0101, Aq~".017. A,=0,0058
(dY/Y} 0,0157 (=18, dY=0,18
~

am=-0 ey o v u gpplication
18 dY,/Y,=0,01011 ge
1
1
Ix=1
XN=0,2 Xw=5

LABJINDuS
tristimulus value contrast
Yoc=Yw nc=100
L AgINDUs =IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
tLaBINDUs =IN(A 10t A2 )/ (AoAon)  (X=YTY)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(YIdY}o=111,31, Ay=1,5, Ay =0,1044, ¢=1,00
(Y/dY)g=98,84, A =0,017, /%=0,0058
(Y/dY} 63,35 Y,=18, dY=0,18

t*,=332 dY,=0,18 Y,/dY,=98

C,=(Y/AY)

application
1 range
%=1
AN—92  pXw=5

log (t*/t* ) LABJNDUS relative triangle lightnesst*/t*,

e, h=Yw - -nc=100,

tLagaNDus =IN(A1n+A2Y)(A2rAgn) - (Yad100<Y<=Yyo)
1 ABINDUS=IN(A 17+ A2 )/(A2yA0n)  (X=Y/YY)
t(3,6)=146 *,(18)=332,*(90)=517

tog/t* =155, Ayr=L,5, A, =0,1044, ¢=1,00

t*1g/t* =1,00, A1=0,017, 40,0058

t*3,9t*,=0,43,t4,=332,22 =18

log[t*/t* J=0, m,;=0,33
1 application
f range
%=1

LABJNDUS relative
tristimulus value difference
AN/N Yoc=Yw =100,

t*LaBINDUS =IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
t* 1 ABINDUS=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYoo/dY,=4,43, Ay=1,5, Ay =0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A=0,0058
dY3 ¢dY,=0,31, Y,=18, dY7,18 4

t*,=332 d 18 dY,/ u_:(l '_l_l(ll"‘

log(AY/AY,)

application
nge

=1
Xw=5

CEGB0-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc

tLaBaNDus =IN(A 1+ A Y)(A2rAgn)  (Yad100<Y<=Yyo)
t*LaganDus =IN(A 1t A2 (A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)

(@Y/Y)o(dY/Y)-1.88, Ay=1,5, Ap,=0,1044, ¢=1,00

(dY/Y)g/(dY/Y)=1.00, A =0 017, /4,=0,0058

(AY/YY g(dYIV)=1 55 Y,=18, dY=0.18

v

A N
log[(dY/YY(dY/Y)]=0, m=-0,13 o
t*,=332 dY,=0,18 dY,/Y,=0,0101} ?g’,ﬁ’é‘ga"m
%=1

XN=0,2 Xw=5

CEG50-6A
log [(Y/AY) I (YIAY),] LABJINDUS relative
tistimulus value contrast

CHIC,=(YIAY)I(YIAY), \ i VIS o8

tLagaNDus =IN(A 1+ ALY (A2rAgn)  (Yad100<Y<=Yyo)

tLagaNDus =IN(A 1t A2 X) (A2iAon) - (X=Y1Yy)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAYhg/(Y/dY)=1,12, Ay=1,5, Ay=0,1044, G=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,~0,0058
(Y/dY} g(Y/dY)=0,64 Y, =18, dY0,18

application
range

log (T*) LABJNDuUS triangle lightness T*
Y,

T+ he"L*w - nc=100,

T*LABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
T*LaganDus=IN(A 10 A2 X)/ (A2iAon) - (X=Y1Yy)
T+ (3,6)=146,T* ,(18)=332,T* ,(90)=517

log[T*/T*]=0, m;=0,33
L* ;=49,T*,=332
1
*o0=517,21, A= s Fphp,=0,1044, ¢=1,00

T*1=332,22, /7 0. M7, A,=0,4058
Tr3,6146,11,T%; 39,22 =181

L ] =1
=02 Txy=5

application
range

CEG51-1A

log(AY) LABINDU5
AY tristimulus value difference
Yoc=L*w - nc=100,

T*LaganDus =IN(A1n+AnY)(A2nAon)  (Ya/100<Y<=Yyo)
T*LaBanDus =IN(A 10+A2X) (A Aon)  (X=Y1Y)
dY=Agn(A1ntA2nY)=Aon(A1ntAzX)  X=Y1Yy
Aon,pes=1,5, Ao a=1,0, see CIE 230:2019

3

>

log(dY)=0,18 m,=0,85 ¢ %
1
dYg=0,80, Ay=1 5 ' 50,1044} ¢=1,00= = = = =
d¥,5=0,18, “y-uicA 7, A,=0,0058  application
dY36=0,05 Y,=18, dY=0,18 9

1
XN=0,2 Xw=5

CEG51-3A

log (AY/Y) LABJINDU5

tristimulus value sensitivi
S Yol W =100 Y

nc’

T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yno)
T*LaBINDUS=IN(A 1+t A2)/(A2Aon) - (X=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y
(dY/Y}5=0,0289, A=1,5, Ay =0,1044, ¢=1,00
(dY/Y)g=0.010- Ay=0,017, A4,=0,0058
(dY/Y} =0,0157 ¢ ~15, 2Y-N 18

log(dY/Y)=-1,99 m,=-0, Bsx

=1
XN=0,2 Xw=5

CEG51-5A
log (Y/AY) LABJINDu5
- tristimulus value contrast

G=(viny) Yoe=L*w -~ nc=100
T*LABINDUS=IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
T*LaBINDUS=IN(A 17+ A20)/(A2Aon) - (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

(YIdY}o=111,31, Ay=1,5, Ay =0,1044, ¢=1,00

(Y/dY)g=98,84, A =0,017, /4=0,0058

(Y/dY} 63,35 Y,=18, dY=0,18

T+,=332, dY,=0,18 Y,/dY,=98

-
application
1 range
%=1
Pw=5

CEG51-7A

CEG51-7N

TUB-test chart CEG5; LABINDY$*(Y) & T*(Y), Ync=

log (T*/T* ) LA?JL\IDUS relétive triangle lightness T*/T*

THT*, Yoc=L* w nc=100,

T*LABINDUS =IN(A 1ntA2nY)/(AnAon)  (Ynd/100<Y<=Yoo)
T*LaganDus =IN(A 10tA2X)/ (A2iAon) - (X=Y1Yy)
TN (3:6)=146,T* ,(18)=332,T*,(90)=517
Th gy T*,=L,55, Ay=1,5, Ay, =0,1044, ¢=1,00
T4,g/T*,=1,00, A =0,017, £,~0,0058
T3, T#,=0,43,T4=332,22 (=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEG51-2A

log(AY/AY,) LABJINDUS relative
tristimulus value difference

INUNS VLS VAl 5o
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYgo/dY,=4,43, Ayy=1,5, Ay =0,1044, ¢=1,00
dY,g/dY,=1,00, A=0,017, A,~0,0058
dYs,gdY,=0,31 Y, =18, dY=0,18 -~

CEG51-4A
log [(AY/Y) | (AYIY),] LABJNDUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y}=0,88, Ay=1,5, Ay, =0,1044, ¢=1,00
dY/7Y)g/(dY/Y)=s 20, A=0,017, A=0,0058

bt ~
log[(dY/Y)(dY/Y),]=0, mu:—0,13. ki —
T+,=332 dY,=0,18 dY,/Y,=0,010%} ragrglgecatlon
')‘Fl
Xn=0,2 Xw=5

CEG51-6A
log [(Y/AY) / (YIAY),]
Co/Cry=(YIA)(YIDY),

LABJNDUS relative
tistimulus value contrast
Ync=L* w nc=100.,
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)
(YIAYY(YIAY ), =[x/ (A A2 (A 1Az
(Y/dY}g/(YIdY)=1,12, Ay=1,5, Ap,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0058
(Y/dY} ¢/(Y/dY)=0,64 Y,=18, dY=0,18
log[(Y/dYY(Y/dY),]=0, m/=0,13

application
range

CEG51-8A

&L*)wWrcBne x=1,00, with more data

Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,017, A,=0,0058, A,=0,10
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